
Please read this manual before using the product and follow the instructions it contains!

ASSEMBLY AND OPERATING INSTRUCTIONS
Height-adjustable desk

MILLA



2

CONTENT

GENERAL

MAINTENANCE

Assembly instruction� 9
Operation instruction� 10

Errors & troubleshooting� 12
Service & contact� 12



  01495 707222   www.topregal.co.uk info@topregal.co.uk 3

No. Description Quantity
1 Side bracket 2
2 Table leg 2

3
Control box / 
power supply unit

1

4 Central trail 1
5 Control device 1
6 Foot 2
7 M6 x 10 8
8 M6 x 15 8
9 M4 x 15 self tapping screw 2

10 M5 x 20 self tapping screw 12
11 M4 x 14 2
12 M6 x 40 4

1

3

5

2

4

6

1 4

8

11

10

12

5 9

7 123

2

6

2

8

7

The width is determined 
by the table top.

Adjust the width of
the metal frame to the
table top by push the  two
halves outwards. Electrical connection as shown.

5
9

10

Attention! Before using the device for the first time, the power supply unit must be screwed tightly to the table top.

ASSEMBLY INSTRUCTION



4

OPERATION INSTRUCTION

OPERATION

RESET

SAVING HEIGHTS

RECALL MEMORY POSITION

When the ‘up’  button is pressed, the desk moves up and stops when the button is released.

When the ‘down’  button is pressed, the desk moves down and stops when the button is released.

The desk must be reset in the following cases:

Press the down key  until the LED display shows „RES“. The table will return to the lowest displayed height. Release the 
button to end the reset.

Using buttons  –  on the control panel, up to three different heights can be saved. The saved height will be retained 
even if the desk is switched off.

Press and hold the Up  or Down button  until the desired position is reached or press the Memory buttons (  – ) 
to automatically move the console to the preset position.

•	Prior to its first use
•	 If the table is asymmetrical
•	 If the LED display shows an incorrect reading for the height

1.	 Press the ‘up’  or ‘down’  button to select the desired height. 

2.	 Press the  button; the display will then flash for 5 seconds. 

3.	 Within these 5 seconds, press one of the three memory buttons ( ,  or ).

1 2 3 4 5 6

No. Button
1 Button S
2 Button 1
3 Button 2
4 Button 3
5 Up button
6 Down button



  01495 707222   www.topregal.co.uk info@topregal.co.uk 5

MENU NAVIGATION

SETTING THE LOWER LIMIT OR UPPER LIMIT

SETTING OF THE HEIGHT INDICATION (CM / INCH)

SWITCH TONES ON AND OFF

DISPLAY BRIGHTNESS

SETTING THE ANTI-COLLISION SENSITIVITY

Press and hold the  button for 5 seconds to access the Menu, then press the  button again to view the Menu Guide.

The individual menu items are accessed using the arrow buttons. To go deeper into the menu or to confirm an entry, 
always press the  button. To exit a menu, press .

In the menu under „SH“ the lower or upper limit can be set.

L - Minimum setting height 
H - Maximum adjustment height 
0 - No adjustment made

Use the up  or down key  to set the minimum or maximum height. The setting is completed by pressing the  
button again.

Press and hold the  button for 5 seconds to access the menu, then press the  button again to view the menu muide.

In the menu field „Un“ the display unit (Si = cm & In = inch) can be changed. You can change the settings using the Up  
or Down key . The following is saved by pressing the  button again.

The beep sound can be switched on or off via the menu item bEE. Confirm the entry by pressing the  key.

Via „br“ the brightness can be selected between low, normal and high. Confirm the entry by pressing the  key.

The sensitivity can be set in the menu under CF.

Off - Function disabled > is not recommended!
Low - Sensitivity low
Normal - Sensitivity normal
High - Sensitivity high

Confirm the setting by pressing the  button.



6

ERRORS & TROUBLESHOOTING

SERVICE & CONTACT

Display Description Solution

E02

Blocking protection:
In case of unusual movement of the desk 
(e.g. tilting, collision with other objects or 
not correct mounting of the power supply 
unit) the engine stops

1. �Make sure that the power supply unit is firmly is attached 
to the table top

2. Remove the interfering object
3. �After correcting the error, press any key (except S) to to 

delete the error message and to continue operation

E10
Motor 1 / motor 2 error
The cable from motor 1 / motor 2 is not correctly connected

1. �Check whether the cable is connected from Motor 1 or 2 
properly with is connected to the control box

2. Check that the cable from motor 1 or two is unharmed
3. �Remove the power plug from the socket and plug it in 

after 20 seconds
4. Perform a reset

E20
Overload of motor 1 or 2
Overload, mechanical error

Reduce the weight in order not to exceed the maximum 
load or to solve the mechanical problem. After 8 seconds, 
press any button to clear the error message and continue 
operation or perform a reset

E31
Protection against undervoltage
�Supply voltage is lower than the limit value

Remove the power cable from the socket and plug it in 
again after 20 seconds

E32
Protection against overvoltage
�Supply voltage is higher than the limit value

Remove the power cable from the socket and plug it in 
again after 20 seconds

E60
The desk does not move up evenly.
The two motors are no longer synchronized

The controller must be reset. To do this, please keep the 
down key pressed until „RES“ (Reset) appears on the screen

HOT Unit has become too hot Unplug and wait at least 20 min

Contact our product experts and find help and solutions for your product. Here you will find all contact information listed 
by country and language: www.topregal.co.uk/en/service
 
Responsible for the content: 
TOPREGAL GmbH 
Industriestrasse 3 
70794 Filderstadt 
GERMANY 
www.topregal.com



V 
12

.0
5.

23


